05591_ES heXR & , BRHTHMEHEIEF

7= miiEA

ME
MBI
MR T BENER
M 54T o
TEEMHEH

A

TRFEE,
BERATBER.
a4,
THMNEHD |, .

BR:

FEf T B E R4 M2 = M3,

ZxRAN 1, AFHRE 6 mm =% 12 mm,
ZERFR 2, ATHRE 12 £ 20 mm,

T
;;;; : MBBAREE S |, MARSAZ AL 4 0.1 mm SLERIERR,
gnn 8 e ESEPY
" NN bt
R Z MR 05592

© norelem www.norelem.com



05591_ES hiedR 'L | BERHTFHEWNEHIEF

@ @
D6
4 Dg -
' - : 7 e
; !  # | 17 = d | J 1% 15 r A
é D7 55' D7 \ J
D54, :
05591-5161 WHIEET |5 155 (14|25 20(21| 19 |6,5| M2x3 |14 (26 |4,4|2,4| 6| 6-10 | 60 1,8 1,2 <200 °C
05591-8171 WEIBEET |8 17 18|34 32(28|255| 10 | M3x4 [18(35|6,5|34|6| 6-14 | 90 3,2 2,6 <200 °C
&
05591-8231 T  4XHI%44T |8 23 18|34 32|28|255| 10| M3x4 |18|35|6,5|3,4|12| 12-20 | 90 3,2 2,6 <200 °C
&
05591-15161 T  THHEHET|5) 155 (14|25 20|21 19 |6,5| M2x3 |14 |26|4,4|2,4| 6| 6-10 | 60 1,8 1,2 <200 °C
Gkl
05591-18171 T  THWEHT|8| 17 |18[34 32(28[255| 10| M3x4 [18|35(6,5/3,4| 6| 6-14 | 90 3,2 2,6 <200 °C
&
05591-18231 T THWHT|8| 23 |18[34 32(28[255| 10| M3x4 [18|35(6,5|3,4(12| 12-20 | 90 3,2 2,6 <200 °C
Gkl

© norelem www.norelem.com




05591_ES hiedR 'L | BERHTFHEWNEHIEF

© norelem www.norelem.com



